
𝐴𝐴
𝜕𝜕2𝑢𝑢
𝜕𝜕𝑥𝑥2

+ 𝐵𝐵
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝐶𝐶
𝜕𝜕2𝑢𝑢
𝜕𝜕𝑦𝑦2

+ 𝐷𝐷
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝐸𝐸
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝐹𝐹𝐹𝐹 = 𝐺𝐺 

𝜉𝜉 = 𝜉𝜉(𝑥𝑥,𝑦𝑦), 𝜂𝜂 = 𝜂𝜂(𝑥𝑥,𝑦𝑦) 
 
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

= 𝑎𝑎,
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

= 𝑏𝑏,
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

= 𝑐𝑐,
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

= 𝑑𝑑 

とおく。 
 
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

=
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

= 𝑎𝑎
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝑐𝑐
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

 

𝜕𝜕2𝑢𝑢
𝜕𝜕𝑥𝑥2

=
𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� =

𝜕𝜕
𝜕𝜕𝜕𝜕

�𝑎𝑎
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝑐𝑐
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� 

= 𝑎𝑎
𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� +

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝑐𝑐
𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� +

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

 

= 𝑎𝑎
𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� + 𝑐𝑐

𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� +

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

 

第 3 項、第 4 項は u の 1 階微分なので省略すると 

𝜕𝜕2𝑢𝑢
𝜕𝜕𝑥𝑥2

→ 𝑎𝑎 �𝑎𝑎
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜉𝜉2

+ 𝑐𝑐
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

�+ 𝑐𝑐 �𝑎𝑎
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝑐𝑐
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜂𝜂2

� 

= 𝑎𝑎2
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜉𝜉2

+ 2𝑎𝑎𝑎𝑎
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝑐𝑐2
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜂𝜂2

・・・① 

同様にして 

𝜕𝜕2𝑢𝑢
𝜕𝜕𝑦𝑦2

→ 𝑏𝑏2
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜉𝜉2

+ 2𝑏𝑏𝑏𝑏
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝑑𝑑2
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜂𝜂2

・・・② 

 

𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

=
𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� =

𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝑏𝑏 +
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝑑𝑑� 

= 𝑏𝑏
𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� +

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝜕𝜕𝑏𝑏
𝜕𝜕𝜕𝜕

+ 𝑑𝑑
𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� +

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

𝜕𝜕𝑑𝑑
𝜕𝜕𝜕𝜕

 

= 𝑏𝑏
𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� + 𝑑𝑑

𝜕𝜕
𝜕𝜕𝜕𝜕

�
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
� +

𝜕𝜕𝑏𝑏
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+
𝜕𝜕𝑑𝑑
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

 

第 3 項、第 4 項は u の 1 階微分なので省略すると 

𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

→ 𝑏𝑏 �𝑎𝑎
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜉𝜉2

+ 𝑐𝑐
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

�+ 𝑑𝑑 �𝑎𝑎
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝑐𝑐
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜂𝜂2

� 

= 𝑎𝑎𝑎𝑎
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜉𝜉2

+ (𝑏𝑏𝑏𝑏 + 𝑎𝑎𝑎𝑎)
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝑐𝑐𝑐𝑐
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜂𝜂2

・・・③ 



 
①②③より 

𝐴𝐴
𝜕𝜕2𝑢𝑢
𝜕𝜕𝑥𝑥2

+ 𝐵𝐵
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝐶𝐶
𝜕𝜕2𝑢𝑢
𝜕𝜕𝑦𝑦2

 

= 𝐴𝐴 �𝑎𝑎2
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜉𝜉2

+ 2𝑎𝑎𝑎𝑎
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝑐𝑐2
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜂𝜂2

� 

+𝐵𝐵 �𝑎𝑎𝑎𝑎
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜉𝜉2

+ (𝑏𝑏𝑏𝑏 + 𝑎𝑎𝑎𝑎)
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝑐𝑐𝑐𝑐
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜂𝜂2

� 

+𝐶𝐶 �𝑏𝑏2
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜉𝜉2

+ 2𝑏𝑏𝑏𝑏
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ 𝑑𝑑2
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜂𝜂2

� 

= {𝐴𝐴𝑎𝑎2 + 𝐵𝐵𝑎𝑎𝑎𝑎 + 𝐶𝐶𝑏𝑏2}
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜉𝜉2

+ {2𝐴𝐴𝑎𝑎𝑎𝑎 + 𝐵𝐵(𝑏𝑏𝑏𝑏 + 𝑎𝑎𝑎𝑎) + 2𝐶𝐶𝑏𝑏𝑏𝑏}
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜕𝜕𝜕𝜕𝜕𝜕

+ {𝐴𝐴𝑐𝑐2 + 𝐵𝐵𝑐𝑐𝑐𝑐 + 𝐶𝐶𝑑𝑑2}
𝜕𝜕2𝑢𝑢
𝜕𝜕𝜂𝜂2

 

よって変換後の係数は 
𝐴𝐴′ = 𝐴𝐴𝑎𝑎2 + 𝐵𝐵𝑎𝑎𝑎𝑎 + 𝐶𝐶𝑏𝑏2 

𝐵𝐵′ = 2𝐴𝐴𝑎𝑎𝑎𝑎 + 𝐵𝐵(𝑏𝑏𝑏𝑏 + 𝑎𝑎𝑎𝑎) + 2𝐶𝐶𝑏𝑏𝑏𝑏 

𝐶𝐶′ = 𝐴𝐴𝑐𝑐2 + 𝐵𝐵𝑐𝑐𝑐𝑐 + 𝐶𝐶𝑑𝑑2 
なので 
𝐵𝐵′2 − 4𝐴𝐴′𝐶𝐶′ = {2𝐴𝐴𝑎𝑎𝑎𝑎 + 𝐵𝐵(𝑏𝑏𝑏𝑏 + 𝑎𝑎𝑎𝑎) + 2𝐶𝐶𝑏𝑏𝑏𝑏}2 − 4{𝐴𝐴𝑎𝑎2 + 𝐵𝐵𝑎𝑎𝑎𝑎 + 𝐶𝐶𝑏𝑏2}{𝐴𝐴𝑐𝑐2 + 𝐵𝐵𝑐𝑐𝑐𝑐 + 𝐶𝐶𝑑𝑑2} 

= 4𝐴𝐴2𝑎𝑎2𝑐𝑐2 + 𝐵𝐵2(𝑏𝑏𝑏𝑏 + 𝑎𝑎𝑎𝑎)2 + 4𝐶𝐶2𝑏𝑏2𝑑𝑑2 + 4𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴(𝑏𝑏𝑏𝑏 + 𝑎𝑎𝑎𝑎) + 4𝐵𝐵𝐵𝐵𝐵𝐵𝐵𝐵(𝑏𝑏𝑏𝑏 + 𝑎𝑎𝑑𝑑)

+ 8𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴

− 4(𝐴𝐴2𝑎𝑎2𝑐𝑐2 + 𝐴𝐴𝐴𝐴𝑎𝑎2𝑐𝑐𝑐𝑐 + 𝐴𝐴𝐴𝐴𝑎𝑎2𝑑𝑑2 + 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝑐𝑐2 + 𝐵𝐵2𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎 + 𝐵𝐵𝐵𝐵𝐵𝐵𝐵𝐵𝑑𝑑2 + 𝐴𝐴𝐴𝐴𝑏𝑏2𝑐𝑐2

+ 𝐵𝐵𝐵𝐵𝑏𝑏2𝑐𝑐𝑐𝑐 + 𝐶𝐶2𝑏𝑏2𝑑𝑑2) 

= (𝐵𝐵2 − 4𝐴𝐴𝐴𝐴)(𝑎𝑎𝑎𝑎 − 𝑏𝑏𝑏𝑏)2 
 
 


